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Instructions for the candidates:

1. gErell g e o vy F & e &

Candidates are required to give their answers in thesr éwn words as\far as gracticable,

2 Qe IR BIRR W e gT @ quife e ava 7
Figures in the right hand margin indicate (ull macks.

3 ST .FYT UF Bl AAYGE U39 B 15 e 7 sifdRe wua gy war &)

15 Minutes of extra time has been alloftedfor the candidates to read the questions carefully.

4 UE FT-UF T &SI T b, G — 3 v g — 7 |
This question paper isdivided into two sections - Section - A and Section - B.

5. @vg —3 ¥ 50 aEGTE §9 & o geT Afard &) (e @ o 1 o RelfRa &) §TT IV
JuEr v T OMR - I UFE 4 Rd 7 wE) g @ e/ aia 47 | HY
freft off g @ @IEETR,/ avel e/ &S,/ AR 37 @7 g gRasr F JArT @Y JA1
& 32T O GRuITH ST BT

In Section — A, there are 50 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct oplion on OMR Answer Shee!l provided to you.
" Do not use Whitener/Liquid/Blade/Nail eic. on OMR Sheet; otherwise the result will be invalid.

6. @S — 7 8 25 7y GO W &1 (IR @ fy 2 dF [RaiRa &) forr @ [T 15 7 B
gev 397 IR &1 g9 IR 59 @S 4 8 F ST §v & T § (7AF @ [y 5 g
FrifRer &) forrd o el 4 gt @7 9o% @

In Section - B, there are 25 short answer type questions (each carrying 2 marks), out of which any 15
questions are to be answered. Apart from this, there are 8 Long Answer Type questions (Each Carrying 5
marks).Out of which any 4 questions 1o be answered.

Pl g @ FaapiE gwaee @7 gar Qo atid )

Use of any electronic appliances is strictly prohibited.
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ES 31/ SECTION - A

IS geq /Objective Type Questions

Question No. ] ¢, 5 - i (SQX?;‘SG)I |
opti "> have four options, out of which only one is correct. You 1ave to mark, yOur Sel,,,
prion, on the OMR - g0, ; (50xssy,

1, i ' ? :
ﬁﬁﬁﬁaﬂﬁwm?ﬁmﬁmﬁﬁﬁwﬁ%

Which of the f(}]lgwjng Cannot be the probability at an event?

(A) 35 ® 02

(&) 0.3 D 60%
2. AR px)=x2-3x 4 A plx) %1 T TR R -

.If p(x) =x? - 3x - 4, then one of the zeros of p(x) iss

(A) 2 (B) 4

© o | % by B
3. fgurd agus x*-2 @ uw § -

Zeros of the quadratic polynomial x*- 2 are -

B  —VZVZ
{D) -2,—2

(&) - 2.2
(©) —2,—V2
4 ofz A, B, C f&ul B P BI ﬁ‘Fsin(B%F) TR &

v s BN '
If A, B, C are angles of a triangle, then sin (—2~J is equal to -

sl

w il

A

(C) - cos% D) g
[11(]] B Page 2 of 16
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Radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5 : 3, th
are in the ratio -
(A) ﬁ?:zu (B) 20:27
(C) 4:9 ' (D)  9:20
6. 5 153k 20 B @ 9 AR A W B 3UE § -
The ratio between the LCM and HCF of 5, 15 and 20 is -

A  9:1 ' B) 4:3

(C) 11: 1 (D) 1R &

7. el (5,7) dR (1,3) @ @9 @l QPIE
Distance between the points(-3{7) ‘and 1, 3) 1s

A 27 ®  3V2

€ 42 (D)  5v2

8 X, X+3,X+6, x+9 TA x+12 FT GAFR ArY 8-

The arithmetic mean of X, x + 3, X + 6, X + 9 andx+12 is-

(A) Xx+6 (B) X+ 35
{C} X+7 (D) x+8

9. & T g B A W 2 WL ﬁaﬁ%ﬁﬁmwmm%‘?
How many cubes can be formed of side 2 cm from a cube of side 6 cm?
(A) 56 (B) 54
© 28 D) 27

[110] B _ Page 3 of 16
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(A) 350 & ;&
O  swws (B) 1437 LI
D
From a solig cube of edge 14 D) = o 78 |
™ Ee 1% cm, a sphere of largest volume is cut. Approximate volume of sphere
(A) 359 cm? '
B 4 F
© 2874 e
(D) None of these
- ﬁﬁp{“ﬁ-m“ﬁ{ﬁ‘iﬂﬁﬁ%%— |
(A) g o -
o | o B 2T T
6 SBTS
| O) 10
Distance of the point P(-6, 8) from the origit is -
(A) 8 units B) - A Fnits
(0) 6 units ‘ «D) 10 units
?ﬁ:ﬂwﬁgﬁﬁaﬂ’fﬁlﬁa‘riﬁrwﬁ:m 8 N §Fh R el B SR B
If the ratio of arcas of two stmilar triangles is 64 : 121, then the ratio of their corrcspf;hdiﬂg sides
.
(A) 8:11 | B) 8:12
© 12:14 M) 11:8
13. =2 ing E
E]ﬁ‘tanﬂ—;ﬁ. ol sin@ &1 A 8 —
If tan® = 43 , then the value of sin0 is -
s ® 2
3 3
. 4 3
©) - (D) :
HO] B | Page 4 of 16
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@ Y o g @1 2 et el W R o &, wee 8-

14
@A) o . (B) e X
(©)  (A)3R @) @ AR
A line which intersects a circle at lﬁm disﬁn;:t points is known as -
@ Chord . ®  Tangen
(C) Both (A) and (B) B (D) None of thesc
15, sin18® _ |
cos72°
@a 0 ' B) 1
< -l D) o
16. TP waTg Brg ABC B U@ 9T 20 &, T 0 AR & —
One of the side of an equilateral triangle is 2a, then its height is -
A) 3a B) V3a
© S\,
17. 2 wEmiia AR 18 T ACRIPTIN 9. 2 8, T a BT HF & -
LCM of two numbers a and 18 is 36 and HCF is 2, then the value if ‘a’ is -
@ 2 B 3
© 4 @
18. P(-4,2) IR Q(8,6) P fiam ameh Yarave & wa fig & Fams § -
The coordinates of the midpoint of the line segment joining the points P(-4, 2) and Q(8, 6) are -
4 G | B) (1,3)
<€ @49 M 42
19. 3f% 6, 8 9, x T 13 FT ARG 10 &, I x FT 44 &
If the mean of 6, 8, 9, x and 13 is 10, then the value of X is -
(A) 12 (B) 13
© H D 15

[110] B
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2“- qf& 5Cﬂ59=3, ‘L:h 3!11“9 DI q'r,'-l' '@’Tﬂ'_
If 5c0s8=3, then the yajye of 3tan® will be -
4 3 M 5
€ 4 @O 7 k
2. 0¥ T D W g p 4 et pA o p @ 7 £ AR PA =4, T PR
TS ® ~
(A) 16 Wi B) 12 ¥
© s¥H (D) 4T
‘: ?P{;:d PB are two tangents drawn from an external point P to a circle. IfPA=4 cm then the length
is- '
(A) 16 cm (B) 12cm
(C) 8 cm M) 4cm '-
2. 50 g9 B @ 1330, ¥ Rua famg P & Wit 7wl Y@ 3 oW 12 98 @ @
R e 2 |
The length of a tangent from a point P at a distance 13cm.fromithe eéritre of a circle is 12 cm, then
the radius of the circle js- |
(A) - 6cm (B) 12cm
© 9cm (D) 5cm
23. 03RS0D 9rg Rww wei @ e ¥ - |
The number of odd numbers between 0 and 50 is -
A) 26 B 25
© 27 | o) 24 | |
TIPT B P GHEAT &
One card is drawn at random from a well shuffled deck of playing cards, then the probability of
getting an ace is -
1, -
(A) : (B) =
1 | 2
(C) = | ©) 13
[110] B - Pl
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25. wARR A - 54,51,48,45, ... %1 109 07 -

@ = o B) -, 30 .

© -, _ | L @ TR
The 10" term of A.P ; 54, 51, 48, 45, eiinapiey 0 '

A ®) 30

© | . (D) Noneofthese

26. EBROT I x 42y + 5=0TA 3x-6y+1=0 7 & — |
@) - Ifgdr & (B) I EA

© 8 ga & L @ TR
Pair of equations x + 2y + 5 = 0 and -3x - 6y + 1 = 0 have- |

(A) Uniquc solution . (B) h‘lﬁl_litt? solution
(O No solution (D) None of these

27. Tf 2 il ABC o PQR # ZA = £P, /B = £Q, €6 2R, 1 —
If in two triangles ABC and PQR, ZA=2/B, £/B=70Q, ZC = £R, then -

(A)  APQR -~ ACAB (B)  APQR ~ABCA

(C)  ACBA<APQR D)  AABC-~APQR
28. wHRR AN : 2, 6, 10, 14,....... BT B W UG 82 &

(A) 154l | - ® 204t

€  21df . D)  e2zdl

Which term of the AP : 2,6, 10, 14, ......... is 827

@Ay 15" " ® 20"

(I ® 2
2. cos(90°A)= |

(A) cot A : _ (B) sin A

(O tan A y ; (D) sec A

[110]B -
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32.

33

. 385 R ﬂ'itﬁ'ﬂma'qaaﬁ Fywar & —
(A) ) %

(B)
(C) 10,5 9y (D)
The radius of g circle with-arey 38.5 e is -
(A) 7em | (B)
(C) 10.5 em (D)
cos!® cos2°® t!tl;ﬂ3°. v CORY0° =
(A) 0 (B)
© (D)

3.5 9!,
o o B T8

35cem

None ol these

!
V2

NN e N —

The radius and height of

a3
LA) Eﬂrzh e, (B)
€y %m‘zh | ()
ﬁ%(Zﬁ—@ﬁmwﬁﬁuﬂé? :

(A) M e ' o (B)
€ Thuuc ' (D)

In which quadrant does the point (2v3, —v2) lie?

. (A)  1"quadrant (B)
(C)  3"quadrant | (D)
e v E& frg i o wdl &7

3.

For an event E, which of the following is correct?

acone are rand h respectively, then its volume is -

"
= uth
K

T4

e
ggef g

2" quadrant

4" quadrant

[110]B

(A) PE)>I (B) P(E)<0
€ PE)=I D)  PE)=-
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3s.

&fﬂﬁ%ﬁﬂwﬁﬂm'?@?%miﬁrm-gmmz‘a‘?

ing quadratic polynomial whose sum of ZE10s is
(A) X214 3x 42 ‘

© x*- 3x -I2

In the follow
-3 and product is 27 -

B) x4 2x-3
M)  x*-3x+2

.36' AT 5ind = cosd, A § P qerae O
If sinB = cosd, then 0 is equal to- o
w _ ®B)  30°
© 9 | D) 60
37.  sin®® + cos? =
(A) 1 ] ®) 2
© o | ® -1
‘38- 5 AQ2, -4) 3R B(4, -2) B e areht Yareve @ w&ifig &1 e -
The coordinates of the mid-point of the line segnié {oinifg the points A(2, -4) and B(4, -2) is -
A)  (6,-6) | ®)  ¢1,-2)
© 6.3 | ® (3,3
39. IfT feard 9T bi® + ax+c=0 B el IH €, a1 —
If roots of the quadratic equation bx* +ax +c=0 are r:qual; then -
(A) b’-dac=0 - : B) - dac =ID
(C) c*-4ab=0 | D)  a*-4be=0 | _
40. afy v weu wE @) BT A TEE @ B e B V3 T S, @ g B I wor
If th;: len gth of the shadow of a vertical pole is V3 timies the height of the pole, then the angle of
- elevation of the sun is-
" (A) 45° (B) 30°
€ 75 m o
‘[11(3] B ~ Pagedof16
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41,

42.

43,

HQE:%? ' WREn ST R, 9T 9 10 e won oirar &1 9@ 98 TR ARA fRg @
{?G?I:?‘? 82U Wes, again he goes 10 m North, Now at what distance is the man from his initial
(A) - 34 '
.
ﬁmﬁﬁmﬂmﬁa%mg?
Which of the t-ollowing is equal 1o cot@?
si
Y ® 25
(€ -;i_d i B
sin0

IR '
WLx-Sy=2 T 6x +2y=7 B B gar 7 Y, o -

If the Cquations ky - Jy=2 and-(ix +2y=7 have no solutions, tren-
A)  k=.1g

© k=so

o & B R wderonedi

Which of the following is not a quadratic equation?

@y D ¥=-5
D)  k=-I5

(A x4 =xx1) | (B)  (x+1)?=2(x-3)

(C) (X-E)(K+2)=5 (D) x2+xiz:2

45, ﬁmﬁﬂwﬁnmﬁmﬁﬁwuﬁmwamﬁaﬁm%_
&) - R w | @) B A
(C) o & @) ¥ A PE
If the graph of two linear equations in two variables is intersecting lines, thén the number of solutions
Is - |
(A)  Onlyone (B)  No solution
(C)  Infinite solutions (D)  None of these
[1 10] B g Pane 10 of 16
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46. afp T q N I WA ¥, W ST W, T, B

(A) 2

B) 0
€ 1312 M) 1
If p and q are two prime numbers, then thé;ﬁ HCF s -
a) 2 ®)- 0 .
(C) Either 1 or 2 m -1
4. 24,15,22,13,9, 10 9T 30 @1 URER B
Range of 24, 15,22, 13,9, 10 and 30 will be-
(A) 22 _ B) 24
©) 9 - M 2
48. 7= ¥ 3 Lol T8 27
Which of the following is not irrational?
A) © V1o ® v
© 3 | | @) Vi
49, tan?60° BT HF B —
Value of tan®60° is-
1 me ‘ 1
(©) NG . (D) 3
50. R BIA oM AR T B W WER BT A 8-
The product of the' émql]cst prime number and the smallest composite number is -
@a 10 ®B) 6
C 8 , - D 4
(110] B
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E's —9/ SECTION - B

rey
H¥9 /Non - Objective Type Questions
ST T /Short Ansi e
e e 1 % rt Answer Type Questio

g/ Esaymﬁfwﬁﬂ?ﬂfﬁwﬂyﬁ?ﬁﬁ@??ﬁ?%

Question N, . ’ )
. 0. 1to 25 -l : '
4 iy are short answer type, Answer any 15 question. Each question carries
| (15x2=30)
1. 2.47 v P '
P % W g e
Convert 2,77 in the form of 2.
q .
V2. wiaRY gy 5
Solve the HHY=5 3R 3x+2y=8 I 7w o Ry Q& B 3 =
\ ,ﬁ:;stem of equations 2x + y=5and3x + 2y =8 by cross-multiplication method.
D“H:Eﬁ' ST BTG e 54t w5 15 Ty ey ofte <Rl gah b AT 34 2| @
etermine the AP whose 5" term is 15 and theisumof its 3 and 8% terms is 34-.-
4. ﬂ ' "
TR S 1 R e g N S O e e @
Using quadratic formula fifithe"€810f{ons of the equation x?- 3x -10 = 0.
5 = "
P Rig 5 5-V3 wamhig wem gy N @
Prove that 5 — /3 is an irrational number,
(O X3 W S g S R S Regell (7, 6) T (-3, 4) § weve 2 @

Find a point on x-axis which is equidistant from the points (7, 6) and (-3, 4). .
7. UF RS ABC Rar @1 C e 8, 3t qomel CA IR CB W 7% R D ok E )
feora 71 frg & & - :
AE?+ BD?= AB?+ DE? frndl
In a AABC whose £C is right angled, two points D and E are on sides CA and CB respectively..

Prove that -
AE?+ BD?= AB?+ DE?

4 3sin@ + Zcosf .
: .Hﬁ’tan3=§.fﬁ :-I::inB--zlr:aslﬂlEﬁ-twgn?F ! @)

4 alue of 3sin€ + 2cast
If tanB = £ then find the value o Sa1a8 = Zoosd

Page 12 of 16
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P 2
3 : . i . uﬁ -r[“r
Y, TP TR U@ B HAR 28 WA AR anur 9f) Broer 21 L 8, @ wE® AT
B |
’ gt 15
Calculate the volume of a right circular cong avhoge. hei ght is 28cm and radius of the base

2icm. )
10. x Ry U@ W el w Al fwg (x, y). (1, 2) T (7, 0) et &1
Establish a relation between x and vy if the points (x, y) (1,2) and (7, 0) are collinear.
; : : R . : 2)
Ve < R BT W, W, 145 AN I A, W, 2175%iuﬁ:qmﬂw?25%,fhmwn§ﬂﬂ e
wN | : '
The HCF of two numbers is 145 and their LCM is 2175, If oncl number is 725, then find the
other number.

(2)

2)
IZ'IHﬁmﬁﬁﬁﬂ%ﬂ'ﬁ@ﬁ4xz-4x+l$Wﬁ,ﬁ%+%ﬁmﬁﬁﬁl :

lg sl
If o, B are th_z? 7eros of the quadratic polynomial 4_;4.2-, 4x + 1, then findth&valuc of % + % :
13. Br[ST ABC ¥ et AB @ AC WR @) g D oy B*#0% &4 woR ¢ f5 DEIBC. IR (2)
AD=x,DB =x -2, AE=x + 2 @1 EC =k @ %1 711 Fared |
In AABC, D and E are poine onmthe.sides AB and AC respectively such that DEIBC. If
, AD=x,DB=x- X AE¥x+iattldEC=x—l.thl:nﬁndthcvalueofx. | |
4 e fe- | @

Prove that —

secB +tan B _ (1+sinﬂ)2
secB—tan6 ' . \ cosB

15. %ﬁ%ﬂﬁ%ffﬁﬁﬁ{l-ﬁ]aﬁq(-?,4)§\ﬁmmﬁm(2,-l)%,T‘ﬁﬁ?ﬁ (2)
-9 1 Frame ST BN '

Two vertices of a triangle are (3, -5) and (-7, 4). If its centroid is (2,-1), then find its third vertex.

&,/ gfacs famrorhar QeiRes &1 JaNT %% 570 TAT 1425 BT 1. . Frered | (2)
Using Euclid’s division algorithm, [ind the HCF of 570 and1425. _
17. B9 R,® 9% J% e e @ 14 1 2 A2

FFind the surface arca of a sphere whose diameter is 14 cm.

[110] B Paggwoﬂﬁ
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18.

19,
T AR Bcﬁnwmacﬁpwmmﬁﬁlmﬁwﬂmm

ﬁ"‘fﬁi‘lmqg;mﬁ? @)

Evaluate the follgwine -
=

5sin2
IN"30° + cos245° + 4tanZe0°
2sin3pe COs60° + tan45®

mc%m@a@ﬁaﬁr%ﬁmﬁm ACW%WWWWWWW

8 @

AR g

20,
21,

22,

23.

23,

P 99 @ agaie @1 dwa T A AR g aRE 44 . B

: t
AABC is ap 1s0sceles tnangle in which AB=AC. A circle is drawn inside the man"lﬁ Such. = i

it touches AB at E,‘BC-at D and AC atF. Show that D is the mid-point of BC. s 4 @

-

Find the area of a- quadrant of a circle if its circumference is 44 cm. ' |

<1 IR Y % AR e W &, o AR W o o A e 6 R @
Two dice are thrown together, then find the probability of getting same digit on both dice.
Frfofe des 1 aga w1 @ - @)
(T TG [ 0-10 | 1020 | 20-30 | 30-40 | 40-50

IRARaT | 8 | 12 6 15 7

Find the mode of the following distributigii |

Class interval | 0-10 | J0-30-), 20-30 | 30-40 | 40-50
Frequency | 8 [ vl 6 15 7 .
Prfemea de @1 7ed 9 N — | )
i aae | 0-8 | 8-16 | 16-24 | 24:32 | 32-40 | 40-48
gRawar | 10 20 i 16 18 22

Find the mean of the following distribution - -

Class interval D-Q 8-16 | 16-24 | 24-32 | 32-40 | 40-48 |
Frequency 10 20 14 16 | 18 2

uﬁ:aﬁwmﬁwﬁfmwzuammwaﬁmf‘ﬁl . O

If the product of two consecutive natural numbers is 20, then find the nurt%bars;

ﬂﬁﬂﬁ%mmwgim“ﬁ*ﬂw%mﬁmmwﬁ| )

Two coins are tossed together. Find the probability of getting at least one head,

[110] B _ Page 14 of 16
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< SR 99/ Long Answer Type Questions

ye7 G 26 F?maa;#?a‘ewﬁwwéﬁswma%mma%%wmﬁuﬁﬂg’
a4 T BT TR

x5
26t
Question Nos- 26 10 33-are Long Answer Type Questions. Each question carries 5 marks. Answer any
4 quesfmﬂs STy, ' ; (4%5= =20)
W%2x+3y=l?ﬁm3 . - : '
36: T 3x 2¥fﬁmm@ﬁaﬁ?mzﬁl | ®)

Draw the geaph of pair of equations 2x + 3y = 17 and 3x . -2y = 6 and solve them.

27. WBU%ﬁW$ﬁWWWWWWﬁWHﬂ§Q§IEM (33-

@m#a%ﬁﬂma%wﬁgﬁﬁﬂﬁ%ﬁm$wmm 60° aﬁ'xfan %laﬂﬁ.
B HAR IR W= W fieg B 0 T B

Two poles of gqhaj heights are standing oppnsite.t_u each other on Bither side of the road, which
is 80m wide. From a point between them on theoad ¥he angles of elevation of the top of the
poles are 60° and 30° respectively! Findl the-height of the poles and the distance of -the point
from the pole. ‘
28, Rig & 5l o g @ 90 v Wi ¢ el el Y emagal v B § (5)
Prove that thia length of tangents drawnrfrpm an external point to a circle are equal.
29, % VoISl TS GHF a1 9 360 fbA. aﬁqﬁaﬂaﬂﬁféi af T 91 5 fod /der s (5)
A o g S A A 1 e T W A | Y @ o |
A train travels 360km at a uniform speed. If the speed had been 5 km/h more, it would have

taken 1 hour less for the same journey. Find the speed of the train.

'[,11013 -5 | - Page 150f 16 -
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30. g ™ 5 -
&

Prove that —

si ‘
(sinA cosecA)® + (cosA +secA) = 7 + tanA + cor’A

31.- M
31 5 MﬁwWaﬁa%mem%lMﬁwamww O

e %Twﬁﬁzmﬁwmﬁmﬁnﬂw
.+ PQis ach ‘ ' ' '

ord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q intersect at a
. ~..~puint T. Find the length of TP,

3. ﬁlﬂ?ﬂ?ﬁ%"f*ﬁﬁslﬁaﬂﬁmﬁﬁ?ﬁtﬁ10%/’&31&%113%33@%30% 5)

ﬂﬁﬁ%ﬁﬁmﬁmmwmwﬁmaw TR TH P
amsa"cﬁmﬁ‘ﬁﬁ%|

Water is flowing with dspeed of 10 km/hour in a eanal6 m'Wide and 1.5 m deep. How much

arga-Will it irrigate in 30 minutesyif §.om of standing water is needed for irrigation? _
33, 3 A A BTGB w3 14%3&@:{%%%%@@%@%@@@ (5)

@ ARI SN 4 %'%-Wmmmngmﬁﬁamwmﬁrﬁﬂ

FATAT I B | 39 a1 P SIS S B |

A well of diame.tcr 3 m is dug 14 m deep. The carth laken- out of it has been spread evenly all

rsnd e e Shapg of a circular ring of width 4 m to from an embankment. Find the helght

fagr 9 A ddfta zaft e,

; - BeEe T, Ve Ud, Fiee ug, vefde
of the embankme - T, eera &, udlen i,

BSEBResult.In
fiffe s
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